ECE 321 - Quiz #5: Name

CB - CC - CS Amplifiers. May 5, 2016

1) Draw the small signal model (AC model) for a comon-base amplifier where the base capacitor has been

removed.
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2) Find the 2-port model for the following CE amplifier:
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3) Find the 2-port model for the following CE : CC amplifier
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4) For the following MOSFET amplfier, assume
¢ kn=0.01%
Vﬂ; = 2V
K 2
o Iy = o Vgs = Vth)
Find R1 and R2 so that

+ the Q-point is Vds =6V, and
« R1||R2 =100k Ohms
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5) Draw the small-signal model for the following MOSFET CD amplifier. Assume that
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Bonus: Godzilla / Bernie Sanders Trivial Which is more;

O

The number of election§ Bernie Sanders has lost, or
« The number of battles Godzilla has-tost?~




